O amm o5 ,
@ é Gidi phuong trinh khéi

Tén: Ngay thang: Piém:
X = 14x* +49x— 36 = 0 X =112 +30x =0

5% — 64x% +223x— 140 = 0 X+ 10x% +23x+ 14=0

10x° + 21%% — 567x + 486 = 0 X+ 4 —28x+32=0

X4 -32x=0 C+3%—6x—8=0

3x3 — 40x% + 144x— 128 = 0 56 —4xr —5x+4=0
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Giai phuong trinh khéi

Tén:

X — 14x% +49x— 36 = 0
x=9,1,4

5¢ — 64%% +223x— 140 = 0
4

xX= -,

5

5,7

10)(33 + 21)(2 —567x+ 486 =0
9

x - _3 6) _9
10

X =4 —32x=0
X = 83_4,0

30 — 40x% + 144x— 128 = 0
4

xX= -,

3

4,8

Ngaythang: _ Diém:___

X =112 +30x =0
x=6,50

X = _1)_2, _7

X+ 4 —28x+32=0
x:252,_8

x3+3x2—6x_820
x:23_1,_4

S —dx? = 5x+4=0
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